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General Aptitude Test
AT Fieg Uteru

In certain code, 'LIGHT' is \\.'rilte.n as
'"1297820". How will 'SIKKIM' be written in the
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42.  Select the optioh that can correctly replace the

question mark (?) in the series.
4,16, 36, ? ) ) )
foren 1 wad & S & T e ¥ g

1]
farg (7) @ T8 B | yfereiud e &l
4,16, 36, ?
(@ 51 (b) 36
(c) 58 (d) o4
Ans : (d) & T3 oF@en faq &
4 16 36 %ZJ
l =
+12 +20 +28
I M
. +8 . +8
HA: 2]l S e S 64 BN

In the question, a figure 'X' is given, followed
by four alternative figures '1, 2, 3 and 4' such
that figure 'X' is embedded in onc of them.
Trace the alternative figure, which contains the
given figure as its part. (Rotation is not

allowed
zl:g";;:)ﬁ, T e X @ T F 3Eh G

uR dafera a1, 2, 3, 3N 4 & W
Can foa o £ R aa X IAH 4
Us B srafiiad g1 30 dacUd ATHQ Al
mmﬁﬁ@a@ﬁrm@m%m
% e &1 sl @ qAE @ AA T )

(A
X

*
(2)

(3)
(a) 4 (b) 2
) 1 (d 3
Ans : (a) & T& TH SFA X. IW G (4) A
A
\

s &)
i —

X (4)
In the question, out of four figures markeed 1
2, 3 and 4, three are similar in a ccrlair;
manner. However, one figure is not like the

43.

(1) (4)

4.

other thiree. Choose the Gionre that to 36802 |

W@mﬂmammwm

45.

74 = 3 fag &
Answer Fig e %
3 4)
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(c) 1 W

Tre quf &9 F &1t E, TS
F® Hel & AN TB T E ]

In the question, out of four figurcs marked, _I.
2, 3 and 4, three are similar in a certain
manner. However, oncfigure is not like the
other three. Choose the figure that is different

from the_rest. . ‘gl

og gva & 1, 2, 3 9 4 fafga = smeta
gwﬁﬁﬁ,?ﬁ?@ﬁﬁwaﬁ%ﬁmt
i T e o A= @ fam ¥ 3w aEfa

aﬁgﬁaﬁﬁﬂﬁﬁﬁl
L=

Answer Fig. /3T fa=

(1) (2) (3) (4)
(a) 3 (b) 4
(c) 1 _ (d) 2
Ans : (a) [T 770 ¥4 SHA | 3HA 1, 2, 4 Th T
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46.

Find the term that is related to the third term
in the same way as the second term is related to
the first term.

Kenya : Nairobi :: Norway: ? .
3G I &l 9 i WAl drEe el | il Hew
T@T ¥, S AT Ve Tgel IIeg | Tl el
T ;e ::_’-Tﬁ: ?

(a) Oslo /31Tl (b) Havana /&aTH1

(c) London /@& (d) Paris /95

Ans;(a)_mﬁwmmmrﬁmmﬁ%nm
T X9 1 A R S T
F ;A ¢ : AT 3T

47.

The statement below are followed by two
conclusions labelled I and 11 Assuming that the
information in the statement is true, even if it
appears to be at variance with generally
established facts, decide which conclusions(s)
logically and definitely follow(s) from the
information given in the statement.
Statements: All dogs are lions.

All lions are cats.
Conclusion: 1: All dogs are cats.

I1: Some cats are dogs

) fou U gETT & e | 30 11 Saet faw
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1: Ho fafeoral $a &
(@) Onb chncln\mu I follows
Faa fased 1 gRonw dar &
nh conclusion 11 follows
- :ala‘if fysd 11 Romy Qar 8
(©) Both concluston follows

g fsed oftomy R §1

Necither  conclust 1 nor conclusion Il
. n"\okl;\lxl\‘\:;q ;Tlil‘ﬁg;‘ [ ot 7 & fassd 11
qRomy 2ar 81 .
Ans : () F - 7 @ R ¥ P fech § g
e 3 o B 3o Reh 0 g &1 om: A9 P
TR A R

The statement below is followed by a
conclusion.  Without  resolving
yourself. choose teh option to appropriately
validate/invalidate the conclusion based on the
given statcment.
Statements: Army personnel are brave people.
All army personnel will get 'Ratna’. Devesh is
an army man.
Conclusion : Devesh will get '"Ratna’.

oo &1 e & A T 2
= fadl < &t 7o e famm, fyw o wew

@ IMUN W fau u fssd &t aqfad w7 @

AT /30T i+ & o0 faeer o)

FUT T w5 () agg} 2

Tt T FHET ‘TE’ yTe &

e gavr ‘T’ gyt wmam

(@) True /39

(b) False /7Teq

(c) Probably true /999a: Hq

(d) Can't say /&HE 78 Hehd
ADs : (a) FI9 & FTAR A FA (Hfch) T8I 81T 5
A T T 9 01 R @ v A 81 3E
d 4 7 o Zg9r o e @) fsed @@ 8
49.  The statement given below is followed by two
arguments numbered I and Il You have to
decide which of the arguments is a 'strong'
argument.

Statement: Should the government encourage
the production of plastic?

Arguments: I: Yes, this will increase the

A !
T WIHN & wnlles & Fenas @ uranfya
&Tar wrfym

adh:

1 : &1 g0 W@ a1 T @ )

I qiﬁ'gflgu faufar i wnfiea 3atn @ #7 ae
UguuT & fer e

(a) Only 1is strong, /&hdel | 954aq ¢

(b) Only 11 1s strong, /<hde 11 WS #

(¢) Neither I'nor IT1s strong,

Fat st a o osEa g X
Both I & 11 arc strong/1 311 11 21 & w9 #)

R —

(d)

anything |

revenue of government.

ll: N". lhiﬂ deciaann will anaom thn w1

Ans : (b) ©Zd & I & emfed wt T arpasd
i wguur @ wen qeft gafer wehr @ wenfed @
[ i O L O A O O R G . 2 11 T R D
& g & s il et g

S0.

Select the option that can correctly replace the
question mark (?) in the series.

DF, GJ, JN,? . ; )

I faaheT &1 oo i A S TS gﬁr’m # goq
fug (?) =t wdt ®u | glawenfia .

DF, GJ, JN, ?
(a) PM

(c) MR

(b) LM
(d) OP

Ans : (¢) & TE 2@dl fAHaq

Py 4%;@
DF Gl JN \Y
|_i3__'"_+3_ﬂ +3

S1.

Select the option that can correctly replace the
question mark (?) in the series.

15,27,45,2

I ferehed o waT B S @ T e § god
g () #t ot = § yhrenfrg sam

15,27, 45, ?
(@ 69

© 83 (b)y 78
C

(d) 87

Ans : (a) TGl fAaq 8-

3TA: ]Gl & STl T=% 69 &)

B 2 49
I

12 18 3

Lt 1

+6 +6

32.

The question consists of four problem figures
marked A, B, C and D and four answer figures
marked 1, 2, 3 and 4. Select 2 figure from
amongst the answer figure, which can continue
the scries established by the four problem
figures.

méA,\B,CHm D ¥ fafga = aoen areh
STHITT € 991 1,2, 3 37 4 & Fafge ww 5w
arelt sfaat €1 S enafy § ® 3w aTTeRia
@ qrelt IRfaar g
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53.  Three different positions of the same dice are
shown. Find which numh('rrtl face is opposite -/

to the face showing 67 —-\_—_(—C p—
mwgw\:;ﬁfrzammwim" /7—?/—:
frad o3 &) 3= f g a= v s 6 frEry || s o=t Z

T Be S & fauie §? LZ
3 2 1 Tn a certain code.
S il D ALER bc-rnu'
s> s1Y [ oscp il H”:‘P;nf‘ ;,Ez Z. LEADEK =
= the same code’
Ferim TN E =z d
@ 1 (b) 2 'NGCFGT :
© 3 _(d) 4 'DEALER’ 3 %& o #7777
Ans : (¢) T91 | FX TF 2 8 I B (598 5 AN (a) EFBLES tb;EFEJ;SS
$5 2) TE & W A oAt 5 (c) FGONGT (d) E41)
(:a:‘auf——z Ans : (c}ﬁﬂmbg NGCFGT
5. & favt 4 2 4 t
2% faofg | <2
S4.  Thc following gucstion consists of two sets of -2
figures: A. B. C and D constitute the problem 2
sct while figures 1, 2. 3 and 4 constitute the =2
answer sct. There is a definite relationship )

betwcen figures A and B. Establish a similar o ﬁ? EET s = =T e

relationship between figures ¢ and d by
selecting a swvitable ficure from the answer set o IEID'a’Ng{ TFTLBI ETH g '
that would replace the question mark (?) in l

figure D. )

fafeafea yva & sngfaai & 1 a2 §1A,B, C
FAT D WEEAT & AE W 7§, Held Al 1, 2,
3 797 4 I AT G §1 A 3 B AHAAl &
ns fafves T % 397 @ ¥® Rk A q
Mﬁ &1 99T &7 C AT D m & dm= 57. Given below are two statements labelled | and

g A7 &7 day w=1fuAa afn‘au il éﬂ?'fa D IL Determine which of these statements to
answer the following question.

'.

P14 }
taftofraftalta hra

|

)

S——

faz (?) &1 gfazarfua &am
il i (.’ TS ATHE Question: How many children does Ram have?
Problem Fig / : Statements: 1: Sahar is the only daughter of
- [ | Rena, who is the wife of Ram.
* * - ? I1: Sahil and Sall are brothers of Sahar.
Bl B~ |*B ~ ! ﬁalmllmmmmﬁqﬂqit
|| N gfafvad &t fe 39 S99 § o= frafafes
P m ¢ D wa%mmmmm@)
L]
Answer Fig /397 AT&A m mz‘sﬁwﬁtaﬁ??
mw ' - 1 WER AT @t uwmnra oot ¥, S fR w
- * ¥ ‘! " o a-ﬁu?ﬁta
.~ .- 11: 91f3a 3 afes ar & w1 £
(a) Statcments I alone 1s sufficient

| TFT 5937 | v 5
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. tement given below 1s followed by two
decelsftt):s labellegtll I and IL You have to assume
evervthmgm the statement to be true, and then

hich of the three suggested decisions
declﬂe 5 s) based on thc statement.

f’*students are reported to be
out of school in Delhi as they are
cannot afford school fees.

e government should immediately launch
2 rogam for such students to reconnect to

e %al’a en should be mo ivated to submit fees.
ast ;‘% 1 Tlil'{‘

m=r=n ﬁﬁam:rﬁg
nimrgamvﬁw
&% AT HAA & mwmm
T @ | oty Aifhe €7 9 8 B
ﬁm‘tﬁaﬁmﬁmﬁ% [ et &
a7 & frote faar = E, aa‘rﬁsé‘wﬁa%mj
m%waﬁaﬁ?ﬁmmznwg
it & T § AR TET Tl &
- kil el Jeh
foufar:

HAT AR
(a) Only I follows /&daa 131% 2
(b) BothI and II follow/ I 3R 11, a1 3 8

(c) EitherIor Il follows .
71 A Had 141 &aa 1l 3F &

(d) Only II follows /&ad 11 & 7

Ans :

gL

(I1)

meaﬁanﬂazuwmmmaﬁ
AT AfE

(a)mmmmﬂf‘ac—vﬁﬁ@ﬂmﬁ@ﬁ

=l & 4 aF & fou s
%ﬂ?ﬁﬂﬂﬁwg{fiﬁa%l

afds &9 4 3% 78 2|

59.

How many Ictter(s) in the word SUNDERBAN
occupy/ occupies the same yosition in the word
as it does in the En;,ln%h alphabct series?

SUNDERBAN red axan ELiC R
A &, wan fom @y et aufuren g@er #

a7

- 25C5B3
@ 21 ®
© 53 | 5
Ans: (o) fEar e - A= '+'B-"C
e s AT A R
= 5-35+60 = 65-35 =30

General Knowledge
ST

What 1s t
the formatting an
dates beglnmng in the year 2000, klr

2000 1 T 413 A et fo
éa%maﬁwmﬁwm;
1 gruft =T 872 =

CRM
% B2B (d) SAP

i

Y2K

(b) ¥ _2000 a1 e, B Y2K(a® 2;3'
ot S 9 81 a¥ 2000 F I
arch. P 3. o cheict, 32T & Se9UT S HSROl §
wafen FEEX a1 & U O Al Y2K @Y e
&) F 9@ 2K, 2000 H TR B E TAA ©
9 W9 1999 @ FEId g 2000 FTH g4 drcil 97 a9
faw & 31 faEaR 1999 ¥ AT & Hid 95 IH
¥ o T ,mmm%mmaﬁz\m
9T FET 9, AT W & A Rl 3iH Bl BISH
TEel Sic T8 g%l o Febhd ¥, IF @ 1 I 2000 FHP
Hoged # fa@d aef ad@ 1/1/1900 & @il §9 7@
Wmlooaéqéwﬁ@mgmwymww
facifam a1 ft w1 T 8, P TS THR FH HEGX
HIFET S @UEr i)

62. Which of the following companies do NOT

have a manufacturing setup in Uttar Pr: 2

B e

fafwtor gy & 8

(a) Yamaha /3MET (b) Honda /8iST

(c) Skoda/whleT  (d) Tata Motors /22T HIEH
Ans : (¢c) ST _IRY § IH@l (e Arasn), siel (FeX-
ATE) T 27T AeH () AT s sk §

Ans :

Safe wer @ fafmior saE weny # i 2

63.  Which organisation, founded by Raja Ram
Mohan Roy in 1805, attempted to remove
pre|ud|ces, negative tradltlons and practices
against w omcn"

1805 W WS T g ua fRE
Wﬁm%mwmﬁ

Wmum.ﬁ;ﬁwmm7




Ans : (*) STAER, T TGS T A4 1805 # (6|
ST &I 9T @ S afes 1815 # el W 4
1828 H S& TS &l AT @t off | ad wEre @t w=9A
1875 # <M= TTdl 4 @t oft | wifed FEad A
et § 1915 ¥ =nftd gt qor W= 14 A o
ot YR SRE FT U fewar o
64. Which of the following is NOT a dynasty that
ruled in the South Of;.illdin?o/ﬁm (% l z;ih a
9T 3 NG o A0 WRT WX e @ femar §7
(a) Cheras /=X (b) Pandyas /9IS
(c) Rajputs /TSqd (d) Cholas /3re
Ans : (¢) TSYT 99 9 9RA & T 9T [ IWHA A6
fovari 7di-12d1 wdedt % &1 FA U@ FIA pEe
81 ¥ FF & Aewyul I9qA q9 ¥ qppe qW, AqH
g¥], 46 3%, I §Y, THR G319 gsdd. a9
MR T &1 T 9 § 9RG & IW 9 W AEA
foar) o=, T, Reeh, 19w, Feavesr sl
65.  Where is India is onc of the largest salt deserts
in the world located? & e AR
I ¥ | TS 9RA o sl ud 87
(a) Chandipur, Orissa /&R, ISET
(b) Vedaranyam. Tamil Nadu /3=I0=H, AfHemrg
(c) Jaisalmer. Rajasthan /STSc/®t, TS
(d) Kutch. Gujarat /%5, T5Ud
Ans : (d) 0T (9RT) ¥ e “Fwo & W s e
GG ARGl SN ©| HEd @ W H JHS H a9
HSR ©| ORI A Icqfed & a9 $o 9% 0 1/3 A7
F© & W H NG ol &l ‘F F W W Hi T
&1 Wildlife Sanctuaries ¥ ¥ T& © |
66.  Which place in Bulandshahr District in Uttar
Pradesh is well known for ceramics?
39T YUl dl Feieval |1 o
=t fagt &1 <1l & forg < smar 82
(a) Sikandrabad /5@ (b) Dankaur /S&R
(c) Khurja /g3t (d) Meerut /%3
Ans : (c) G 3R JRE & Ye=dl AT A geiserel ford
4 from sigg TR 21 AR A O & el add e

| B e g arenew, w6, e, agavs, g,
A, i, §erve sfE Zw | ged g &t S R
67. Which Sri Lankan Prime Minster was removed
from office in October 20187/f&a sficianrg
YETIET T STEZaT 2018 # U 9 gErEn T
(a) Mahindra Rajapaksa /9fesT To19e]
(b) Maithripal Sirisena /#5qref faferar
(c) Chandrika Kumartunga /=fge ARG
(d) Ranil Wickremesinghe /0fer fazrafa
Ans : (d) Al & Tpaa dHard (FEEAr 9 gaEEs
afer famafae &1 @al, 2018 & 396 9< F & faar

T @R AT @ IeaE g & ey ¥ OO
faspafds yaraft a |

68. On 15" August 2018, India celebrated its ...,
Independence Day./15 3TT&E 2018 LRG| %
FATAT ..o ar @aaar feaq aqran
(@) 72 (b) 74

9. Whatis Mariana Trench fumous;()r?
69 X @

Most numbcr of volcanoes
HaH 31fad I &
Most number of corals _

ad S 1 (@) &

(a)
(b)

' h
The deepest point on cart
gt T HIH fag &
Most numbers of sl)‘lp%llqlal sank

HMS serst 11 A S[erdrd
—— aximum number of ministerg
[ W.h'lt.. s, the ma} he Union Cabinet of India?
that can be part of th ) d
aRd Hfasd o ferhay wht
(a) 15% of the total strength of Lok Sabha
AT S FT HEAT B 15%
(b) 10% of the total Strength of Lok Sabha
(©) 5% of the total Strength of Lok Sabha
AT A A T B 5%
20% of the total Strength of Lok Sabha
AHHAT .
Ans : (a) 5 091 T59 1 HOAURER Hl T FLAT HA:
ArHT A fagrTar S § FEA B 15% B SR
A & WaE HEl 40-40 §, g8 SiadHan 12% 8|
71.  When was currency demonetisation first
attempted in independent India?/&dx 9RA u
Tl o g T JATH &l g2
(c) 1978 (d) 1963
Ans : (¢) 9T H FUH AR HA 19468, H B3
grl d9 T 500, T 1000 @41 T 10000 & 1T & a=< fohar
71 1978 § # WG 20 WER 7 a1 o1 a9 geoeq §
® T 1000, T 25000 @@ T 10000 & T & &< fHar
T S A AR faqSieer 8 J99t 2016 #F AT M
72. Which act contains a provision that empowers
the government to issue directions to the
Reserve Bank of India?
TR al TR erd da &t frder sl s
&1 ST T 7
(a) The Finance Bill /fav fauaes
(¢) Section 11 of the Constitution of India
AR & = & 9 11
(d) Scction 7 of the RBI Act
TS

syt Tewd 11,033 A 81 T
B Wehd 87
AR B A F&AT DT 10%
W F T H 20%
(913t =fgem F9ned, 2003)
(@) 1956 (b) 2016
AT SEfh AT ARG H 99W aR A1 90 IR e
fsr T 500 T T 1000 & AT & &< fRar T a9
¥ US U WEYE ¥, S 9
(b) The Banking Act /3T srfafaas
@ U 7

[[Ans : (d) AT Rod 9 1§ maaed T S 2]



~73. In which state of the USA did wildfires ra

November 2018?
qde 2018 ¥ Aflan & fog 79 § S &t
T W qun @2 A iR wa sfte @t
R AT GRILOT &1 7

(a) California /

(b) Texas

(c) Ohio /3T&raT

(d) Virgina/

Ans : (a) 798¢, 2018 T ARST & Hferdi=ar ¥id §
sfygor 37 @, S AE-Siad & faArer S & @ R
a4 398 Ted o Hfermifaar § FaE Awor s ¥ 1933
¥ ity F <ft A

74, Mickey Mouse, the well-known cartoon
""" character, celebrated its 90" anniversary in

2018. Who was the creator of lvgckey Mouse?
a3 ‘firat wRE’ 7 2018

o0&t WreRE TS firait WTSq @t frmiar & &7

(@) Dream Works Studios L cEa iRl

(b) “Marvel Comics /HTa< it

(c) Walt Disncy Studios/dfee fet e

(d) - DC Comics, Inc. /SI¥ i, ¥ 7
Ans & (c) [ T35 I Fsid aiee (Sot A g gaad
% 20 1928 # afce fe=i =fedr & faan T 411 9
Fq T ‘fien A=Y 32018 ¥ 90 G 7% |
75. MotoGP Championships are conducted for

hi 92
S o o /s () & o
aTTefaa @ STt 87
(a) Motorcar racing /A1eX Mgl 17T
(b) Motorcycle racing / T
(c) Horse racing /9593
(d) Camel racing /321 & s
Ans:m)ﬁ@_aﬂﬁféa‘ﬁw&mmwg
qEfe 21 Wel St & ad 2018 & fadE S &
ARG | Sl
76.  Which of the following is a digital ledger in

which transactions,?:ﬂ?ca:lndc)ra'l|))lti(z‘c|€:rcncy are

freiaidt o fau
R i grdwfa Y
(a) Database/32@¥ _ (b) Vault/afeE
(c) Blockchain /st (d) Bitcoin /faaigt
: () S (@ AH U [Sfee Hidsfddh s
(@T) &, e A THR b HIA S S & T
e HISR i & forgen yAfitor fehar s Hehdr 2l
g @ sid fEeEH (T §E) Ud A W
=T &l Hitaferd fRar S €1
77, Which of the following wildlife sanctuaries_is
located in Uttar Pradesh? qaa

and cause destruction and loss of human life in

(c) Bori Wildlife Sanctuary
(d) Chandraprabha Wildlife sanctuary i
Ans : (d) == TG SHARTE, (o T b A A
ST S g, 39, & ware fre f food &1 I8l B2
m qre, A, d3am, W, aReRim IRk T
|
A aeid AT T WY & eE fd &
TAqeT &7 § Her g3 &l
H IIAT TR @ g Ry & REgd e @t
H dedie & 21 39 SWARUT F WG FArArSAr &
Ty & fow & 7 21
78.  The decision to allow women of childbe

to worship at Sabarimala temple was taken by : |

st 2 @ fuia fmas g femm T ar?

(a) Sabarimala Governing Committee e
TafiAren I wffa

()

the State C?bipet of Kerala
nAgesd
(c)

ing age

HA TA
the High Court of Kerala
T &I 3ed FIad

(d) the Supreme Court of India
ATy TareT ~AIed

Ans : (d) 28 PR, 2018 @ @afed =g @ 5

rardtei & G fie q 4-1 & agaad § Hedmer

Wﬁw%wmmﬁﬁwﬁéﬁwmﬁ

sfed 4T i THITTIA S S U5 & 41K § [T T

79, What affectionate title did Gandhiji give

Rabindranath Tagore?
Tieftstt 3T @t O | T S &t
(b) Gurudev

(a) Kaviraj /&ast

(c) Santh /Hd (d) Bapu /aTg
Ans : (b) AT S 7 WEA SR &I [ed’ i 39
qo7 Wiearg 2R T e St @ e well Wi e
%mérﬂaﬁmgiﬁ‘vﬁﬁrafef’%mmwnﬁ
fecr & Ade [OEHR AT TAT| A FEE A H T
98 Y9 TR Al 4|
Gz~ st g ‘W ¥el' (The Great Senlind) 4t
el Tl

80. Among countries that do NOT have a single
river, flowing within their boundaries, which

one is the biggest?

349 ey agla'm @1 AT ward, fagat € §
U oft 7t TE et 87

(a) United Arab Emirates /54t 37 3R

(b) Saudi Arabia /934 3T

(c) Kuwait /Fdd
(d) Libya /<fifa@n

T TITET T W ST AT 397 UeuT ¥ feud &7

[Ans : (b) 558 3@ (9% & §a9 921 99 fadq 39 2|












